FOREST BEAT OFFICER AND ASSISTANT BEAT OFFICER
(NOTIFICATION NO. 07/2019)
PAPER-II (General Studies and Mental Ability)
FINAL KEY

Question Number : 2 Question Id : 47163920373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following states has the highest number of national parks?
Options :

> « Madhya Pradesh

Question Number : 2 Question Id : 47163920373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 3 Question Id : 47163920374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following states has the highest elephant population?
Options :

3 « Kerala

Question Number : 3 Question Id : 47163920374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

Question Number : 4 Question Id : 47163920375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Amaravathi Capital 1s a

Options :

1 « Green Field Capital

Question Number : 4 Question Id : 47163920375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 5 Question Id : 47163920376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The largest part of our hydrosphere is:

LW Pacific Ocean



Question Number : 5 Question Id : 47163920376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 6 Question Id : 47163920377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Browne Waterfalls are situated in
Options :

i New Zealand

Question Number : 6 Question Id : 47163920377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
&R 20do JY) & &od?

Options :
Argerol
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Qestion Number : 7 Question Id : 47163920378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Name the Sanctuary famous for rare Gangetic Dolphins, Magar (Crocodile) and
Gharial (Aligator).

Options :

> « National Chambal Sanctuary

Question Number : 7 Question Id : 47163920378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 8 Question Id : 47163920379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following 1s the most stable ecosystem?
Options :

3  Ocean

Question Number : 8 Question Id : 47163920379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 9 Question Id : 47163920380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

“Ecology is permanent economy” 1s the slogan of which movement?
Options :

5 « Chipko Movement

Question Number : 9 Question Id : 47163920380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
C
5 D), escsgao

Question Number : 10 Question Id : 47163920381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Given below are two statements. one labelled as Assertion (A) and the other labelled as

Reason (R). Select your answer from the codes given below.

Assertion (A): Asthenosphere 1s the rigid layer of the upper mantle

Reason (R): Lithosphere has the capability of moving bodily over the asthenosphere

4N (A) 1s false but (R) 1s true

Question Number : 10 Question Id : 47163920381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
o (9) esexgio (e56) Deso

Question Number : 11 Question Id : 47163920382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A sign 1s anything which produces
4 « Meanings

Question Number : 11 Question Id : 47163920382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 12 Question Id : 47163920383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is a traditional method of TV broadcasting?
Options :

1 « Terrestrial transmission

Question Number : 12 Question Id : 47163920383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 13 Question Id : 47163920384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Stunting represents
Options :

5  Low height-for-age

Question Number : 13 Question Id : 47163920384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A et — AL HoeroBoNodd:
Options :
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Question Number : 14 Question Id : 47163920385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In which of the following sampling method. the population is categorized into different classes

and a sample 1s drawn from these classes?
Options :

5 Stratified sampling

Question Number : 14 Question Id : 47163920385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 15 Question Id : 47163920386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Development of off odour in fats & oils when they are stored for a longer duration is known as

Options :
~  Rancidity

Question Number : 15 Question Id : 47163920386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

2

Question Number : 16 Question Id : 47163920387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following 1s known as wheat protein?

Options :

4N Gluten

Question Number : 16 Question Id : 47163920387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

4»\/{_})(*35 (Gluten)

Question Number : 17 Question Id : 47163920388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The best source of 10dine 1 our diet 15 :
Options :

> « lodized salt

Question Number : 17 Question Id : 47163920388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

Question Number : 18 Question Id : 47163920389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
High blood sugar level in body is an indication of:
Options :

~  Diabetes mellitus



Question Number : 18 Question Id : 47163920389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 19 Question Id : 47163920390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Typhoidisatypeof ___ caused by Salmonella Typhi.

Options :
> « Fever

Question Number : 19 Question Id : 47163920390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
FreSY e 932 (salmonella typhi) SPGE0TT HR00A:

Options :
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Question Number : 20 Question Id : 47163920391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following symptom is not associated with gastro intestinal disease?
Options :
4 v Kidney failure

Question Number : 20 Question Id : 47163920391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 21 Question Id : 47163920392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

‘Servants of India’ Society was established by?
Options :
4 « Gopal Krishna Gokhle

Question Number : 21 Question Id : 47163920392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 22 Question Id : 47163920393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Rama Krishna Mission 1897 was started by?

Options :
4 Swami Vivekananda

Question Number : 22 Question Id : 47163920393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 23 Question Id : 47163920394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Gandhi j1 suggested two fold strategies to resolve community problems.
Select the correct option.
Options :
o Non violence. Satyagrah

Question Number : 23 Question Id : 47163920394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 24 Question Id : 47163920395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Government of India has legislated biological diversity act in the year .........
for the conservation of our natural heritage

4 ¢ 2002

Question Number : 24 Question Id : 47163920395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
4 « 2002

Question Number : 25 Question Id : 47163920396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Murrel (Channa striata) 1s the state fish of
Options :

4  Both of these States



Question Number : 25 Question Id : 47163920396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 26 Question Id : 47163920397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The primary production in ‘aquatic ecosystem’ depends mainly on
Options :

4 « All of these

Question Number : 26 Question Id : 47163920397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 27 Question Id : 47163920398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The region above aphotic zone. having insufficient light for photosynthesis.
mn the ocean 1s called as
Options :

1  Disphotic zone

Question Number : 27 Question Id : 47163920398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

203 DB0EeS° FS* 20wHD € VBF'Does Dewrd e LB ForrdS PI &) VBT VP WOLPE:
Options :
| @ eS® QaErDE Dew 522 Froddo (disphotic zone)

Question Number : 28 Question Id : 47163920399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The shallow water region with light penetration to the bottom and occupied by
rooted plants in lakes is called

Options :

5  Littoral zone



Question Number : 28 Question Id : 47163920399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
» 96 Jrocto (Littoral zone)

-

Question Number : 29 Question Id : 47163920400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The World Fisheries Day 1s observed on
Options :

1 « 21% November

Question Number : 29 Question Id : 47163920400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 30 Question Id : 47163920401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Red list contains the information about
Options :

5 « Threatened species

Question Number : 30 Question Id : 47163920401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 31 Question Id : 47163920402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following zones has highest percentage of marine habitats?
Options :

3  Epipelagic

Question Number : 31 Question Id : 47163920402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 32 Question Id : 47163920403 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

In which type of interaction do both species benefit?

Options :

Ll

.« Mutualism

Question Number : 32 Question Id : 47163920403 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 33 Question Id : 47163920404 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

The disappearance of all members of a species 1s called
Options :
~  Extinction

Question Number : 33 Question Id : 47163920404 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

208 B1eS°D DAY DZDIED CBI0 SDEPD) BT 0ETE?

Options :
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Question Number : 34 Question Id : 47163920405 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

In which city. the Zoological Survey of India is located?

Options :

_— Kolkata

Question Number : 34 Question Id : 47163920405 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

2rerRse HOg 8D @000 2 30160 €5° &od?
Options :
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Question Number : 35 Question Id : 47163920406 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Which of the following 1s a real fish?
Options :
3 « Seahorse

Yes

Yes

Yes

Yes

Yes

Yes

Yes



Question Number : 35 Question Id : 47163920406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 36 Question Id : 47163920407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is a Bio drainage plant species?
Options :

-  Eucalyptus

S

Question Number : 36 Question Id : 47163920407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 37 Question Id : 47163920408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The rate of soil erosion depends on

Options :
4 « All of these

Question Number : 37 Question Id : 47163920408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Zr0 Eed 2B B D06 STPEHE otwobd:

Options :
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Question Number : 38 Question Id : 47163920409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Shifting cultivation is also known as

Options :

4 « All of these

Question Number : 38 Question Id : 47163920409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 39 Question Id : 47163920410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Loss of biodiversity is one of the major problems which resulted due to
Options :

1 « Modern agriculture

Question Number : 39 Question Id : 47163920410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

| @ VDS SO 030

Question Number : 40 Question Id : 47163920411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Solidification of molten material magma leads to formation of
Options :

1« leneous rocks

Question Number : 40 Question Id : 47163920411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 41 Question Id : 47163920412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Basalt 1s an

Options :

5  Extrusive Igneous rocks

Question Number : 41 Question Id : 47163920412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
o0 dord eofioea (basalt) e936:

Options :
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Question Number : 42 Question Id : 47163920413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Amount of heat required to raise the temperature of one gram of substance by 1° C is called
Options :

o « Specific heat



Question Number : 42 Question Id : 47163920413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 43 Question Id : 47163920414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Eliminate odd one
Options :

.< c1 S D1E
4. Calcium sulphate

Question Number : 43 Question Id : 47163920414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 44 Question Id : 47163920415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Glyricidia is a

Green leaf manure
1. ¢

Question Number : 44 Question Id : 47163920415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
TBDC.0I — 9D
Options :

i & :)&l) e3c0e) D) (green leaf manure)

Question Number : 45 Question Id : 47163920416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Viscosity 1s measured in:
Options :

3 « Poise

Question Number : 45 Question Id : 47163920416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
201ty (viscosity) @er Eedecodnod:

Options :
-  ©Bargo (poise)



Question Number : 46 Question Id : 47163920417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Rate of transpiration is reduced by
Options :

5 WP Decreased Light intensity

Question Number : 46 Question Id : 47163920417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

D e5DBI L0HOD DB HSoH (B20ed) Frox & S°CE0ES BHotsercI0E:

Options :
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Question Number : 47 Question Id : 47163920418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Removal of pollutants from the biosphere by biological processes is:
Options :

5 W Bioremediation

Question Number : 47 Question Id : 47163920418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
25T DEB P50 LxA3ryad (bio sphere) oo s"w&*soa) Fohod DEBD Wer 9otrd:

Options :

5 @ DOOT BanacHND (bio remediation)

Question Number : 48 Question Id : 47163920419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Match a. b. ¢ & d with

a) Nitrogen 1) Pyrites

b) Iron 1) Organic matter
¢) Calctum 111) Tourmaline
d) Boron 1v) Gypsum
Options :

, a-11. b-1. c-1v. d-111
2\/'111 b-1. c-1v. d-111



Question Number : 48 Question Id : 47163920419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
D, . D BoIL & L DA wed Dobgod:

a) 25 i) Byrods Seso (065y)
b) 26> i) 300 22250300 0208 DRaD0 (e5T°DE Doeb)
c) =doo i) DegEeren (o Sorbesed dzo (tourmaline)
d) oD iv) &dyo
Options :
5> « a-ii, b-1, c-1v. d-111

Question Number : 49 Question Id : 47163920420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
If rainfall intensity 1s higher. then effective rainfall will:

Options :
1 « Reduce

Question Number : 49 Question Id : 47163920420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
DGIe0 FoGed ) DT 08, WNYE DG T HEPD0 W E0kV0A:

Options :

| SPS0d

Question Number : 50 Question Id : 47163920421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
To plant 55555 number of red gram plants /ha. the spacing required is:
Options :

_ 60cm x 30 cm
4.

Question Number : 50 Question Id : 47163920421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
55555 Doaxes” Sodd €Y 0 TLErDS IV TG YO0 BDICITA0d:

Options :

4. 60 20.20. X 30 o.2o.

Question Number : 51 Question Id : 47163920422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following leads to more soil erosion?
Options :

-  Deforestation

[



Question Number : 51 Question Id : 47163920422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
&1 S08 T°3e5° DB 9HE B Ed soomaFeiod:

Options :
v e9CLaY) g)cl BnTol={ATe]

-

o}

Question Number : 52 Question Id : 47163920423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Penicillin is obtained from:
Options :
> « Fungi

Question Number : 52 Question Id : 47163920423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
DYOD B0 HD B0 BRVLETED:
Options :

5  ob (ewrer)

Question Number : 53 Question Id : 47163920424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The resolutions of the Gram Panchayat and of the Committees thereof are implemented by

Options :

4V Panchayat Secretary

Question Number : 53 Question Id : 47163920424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
S20e3e0 QBT TP DOT O 3R BT TV 9V BONDVVHE JDW?

Options :

n, 0T 0NS 5°G§K30,

Question Number : 54 Question Id : 47163920425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

This fresh water lake. a source of livelihood. 1s the biggest in Andhra Pradesh
Options :

v Kolleru

R

&

Question Number : 54 Question Id : 47163920425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
€3000BT T°0085" JoFa0AS 2OTIES AFORD 9N DG AL VG IA?

Options :
, v Fgw



Question Number : 55 Question Id : 47163920426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
In Kunderu basin of Y.S.R.Kadapa district. soils are suitable for cash crops

Options :
» « Black soils

Question Number : 55 Question Id : 47163920426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
D.00.636 SED 275" L0BWM BID 6° (1O ..o doen areday

00LOE) 9PN ?
Options :
, 0 O0G Deen
. o

Question Number : 56 Question Id : 47163920427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The coastal alluvial belt in Krishna district has a cover of this plantation
3 « Mangroves

Question Number : 56 Question Id : 47163920427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
S3aF 2D A6 FroB0eSD 2,06 DO B BYYD J TS L) L DEDLEON?

Options :
o DG EDRD

3

Question Number : 57 Question Id : 47163920428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Single largest deposits of Barytes in this place of Y.S.R .Kadapa district
Options :

5 o Mangampet

Question Number : 57 Question Id : 47163920428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

D.20.e56 SCD 2D D Jrocoes” e HS g"cmeﬁ‘ S08D Dogen &7 on?

Options :
5 SO0



Question Number : 58 Question Id : 47163920429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
According to Article 243 (A) of the Constitution of India mserted by 73rd Constitutional

amendment act. the body comprising of all persons registered on the rolls of Gram panchayat is:

Options :

4V Gram Sabha

Question Number : 58 Question Id : 47163920429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
O Toajoli 73 D DHGE B80S’ 243(A) Deodd PEGo TP DoTroHd &

S oS I8 c“oofg DD

Options :

4‘7@’;1)(03,5

Question Number : 59 Question Id : 47163920430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements-
a. Himalayas is the youngest and highly unstable landmass of India.
b. Brahmaputra marks the eastern border of the Himalayas.
Which of the given statement/s is/are correct?
Options :
3 « Bothaandb

Question Number : 59 Question Id : 47163920430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
&1 300 LD / DELD HB(IEIoDC
) aPATPRIOITR) 2°CED 2302 (105D eé‘l 90D efegoba 57erDS oA adOID 90D
VOV ol AR
) SPAFOOITOL) BIPCN 2FTPR) LI ok
DD RORIED PELDVS” DB DJHA?
Options :

5 @ Do D

Question Number : 60 Question Id : 47163920431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The designated State Animal of Andhra Pradesh is:

Options :
o Black buck (Krishna Jinka)



Question Number : 60 Question Id : 47163920431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

BoGNAT &° OB DoDMOVLED ToQBOBY:

Options :

grs w8 (5 208)
1. ¢

Question Number : 61 Question Id : 47163920432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which tree has been declared as the State Tree by the Government of Andhra Pradesh?
Options :

-
5 Neem

Question Number : 61 Question Id : 47163920432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

D HHEaveod RAF TR DHEIL ™ PEBocod ?

Options :

> \/3‘0

Question Number : 62 Question Id : 47163920433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Maximum number of days of guaranteed wage employment to any adult under

MGNREGA is:
Options :
| @ 100

Question Number : 62 Question Id : 47163920433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
MGNREGAS06 Soiradoesd 38 BND DD &6 Bweo 683 Dowy:

Options :
@ 100

Question Number : 63 Question Id : 47163920434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
National Mission for a Green India is merged with:

Options :
MGNREGA



Question Number : 63 Question Id : 47163920434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

A5 modair ardah DAD 3IF IDJo Bavedod:
Options :

4V MGNREGA

Question Number : 64 Question Id : 47163920435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which body at the local level prepares People’s Biodiversity Register?
Options :
» Biodiversity Management Committee

Question Number : 64 Question Id : 47163920435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Q".‘\’)Q ‘g"oooé6 €&D) o VoY DAL 2D PIG) B2H0Y DFo BRod:

Options :

v 2D Q;’)qg .3)05:3‘429 €206 (Biodiversitymanagementcommittee)

Question Number : 65 Question Id : 47163920436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
NABARD is an Institution associated with the development of:
Options :

I Agricultural and rural sectors

Question Number : 65 Question Id : 47163920436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
~erd (NABARD) 2 Gorande So8d e0d5g 0o

Options :
SEOF 0 BT TradEs Gorren
1. ¢

Question Number : 66 Question Id : 47163920437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
GST means:

Options :

-  Goods and Services Tax

Question Number : 66 Question Id : 47163920437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Si
GST e9063:

» DRVPHeD DB DI MG DAY

w



Question Number : 67 Question Id : 47163920438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which SHG from the list below does not undertake development of natural resources

Options :
o Development of Women and Children in Rural Areas (DWCRA)

Question Number : 67 Question Id : 47163920438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

208 DTS’ DB DIOV VDY FHYD HYODo DIFALE Dowo (SHG) I&?
Qo @ —a

” T Ve B0 Dyo DA (*» (DWCRA)

4 ¥

Question Number : 68 Question Id : 47163920439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
How many seats are reserved for women in Panchayati Raj Institutions?

Options :
=5
5 1/2 of the seats

Question Number : 68 Question Id : 47163920439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

DHoroed T°H 3'0078066 T D«‘I)l SN Seronotsegron ?

Options :

, Do Heyest 1/2 Dew
> ‘/ — ™

Question Number : 69 Question Id : 47163920440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Stree Nidhi Programme of Govt of Andhra Pradesh provides:
Options :

o Timely and affordable credit to the SHG members

Question Number : 69 Question Id : 47163920440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
BoENAT R H IO Frro AL, Ay EBIDA?

Options :

SHG dajewh d5Pe0es” 280 DEHID 2aneren
1. ¢

Question Number : 70 Question Id : 47163920441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Bharat Kokila or “Nightingale of India’ 1s:
Options :

1 « Smt Sarojini Naidu



Question Number : 70 Question Id : 47163920441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
a6 3e (Nightingale of India) ™ Hd TodI ordd:

Options :

el 06 HFadD o

Question Number : 71 Question Id : 47163920442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Volume of food grains given per family under Annapurna Scheme:
Options :

3. « 10kg

Question Number : 71 Question Id : 47163920442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

90) QG @S0 Socd £oenoerDS Qasao?oé €3:356 PR DBDTPER:

10 &.1v.
Options :3. ¥ or

Question Number : 72 Question Id : 47163920443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following cannot be treated as cash?
Options :
4 « Investments

Question Number : 72 Question Id : 47163920443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

HYeS® DO S50 DT HBBRoDIEED?

Options :

@2)550 W aoen
4 ¢ - o

Question Number : 73 Question Id : 47163920444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A Cash Book means:
Options :

- A book of original entries and ledger accounts

Question Number : 73 Question Id : 47163920444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
5o e e90:

Options :

TPRDE DO Jofen BAI T¢6 srTro)RLo
v

w



Question Number : 74 Question Id : 47163920445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

According to APWALTA Act. to improve the ground water resources. by harvesting and recharge.
the Panchayat Secretary may issue guidelines for constructing appropriate rainwater harvesting
structures in all residential. commercial and other premise and open spaces having an area of not
Iessthan ..o

Options :
, v 2008q. M

Question Number : 74 Question Id : 47163920445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

APWALTA o580 05°00, BP0y 20 HIMO OO DoToBesErDS Doarad 5m05id,
........................ S0t BE).D 5D FT° 908 Sotf JE.D DYGo (1L VS DT, TEday WO
QDO Fro(ETrees” BN LG PET°VE’ HFR) A Wo6L0d DT EFON FDLDVVIAT

QTGOS 28 SO .
Options :

.- 200 . ab.

Question Number : 75 Question Id : 47163920446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The chief objectives of the TADP and ITDA are..........c.covenennne

a) To increase agricultural production in the area with introduction of modern technologies and use
of improved seeds and fertilizers ete..

b) To take up plantation of suitable fruit bearing trees to meet the requirement of the tribal who
mostly depend upon minor forest products

¢) To provide credit and marketing facilities and strengthening the existing ones

d) To take steps to free the tribals from the bondage of indebtedness.

¢) To discourage the tribals from shifting cultivations and to take up settled cultivation and

f) To initiate measures to improve the educational. sanitary, health and drinking water problems

along with provision of ancillary other facilities.
Options :

3  All of these are correct



Question Number : 75 Question Id : 47163920446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
TADP a080i0 ITDA adng) dooag (S1AL 1T R VI3 NP

a) DOTD IBTeD, YLD ANGTH T TrESo BT BEDE F0o3AE DOFT )
DBAADO SO0 TP(T° AT PP’ HIDI0D SEFGEB DoToBoI0

b) D) B0 0 ESYBOOP BEEOC BID0 FIIHod HBRVLD EDATADES” BAR Dog
EDSZIOKD FelolalATe]

C) DO BAID °5)B0f JETFO VY00, DRSO D) TAD XD Saneo

d) AB0L e Dad §Dy00erdS Boged S8 Hto

e) B2V FrM A8 E DL AOE DOYY VO HFDI0D0 BT BP0

f) oy, Doy, aoaao% RBOAOVR WEOMDODOL, TMH B DADIEL DTBoLLD,

2DFODE DEOTPAITOE EPCH QG DEITOITTO) 5800 05D &0 H0
Options :

, ©) 0B ©0o0dD
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Question Number : 76 Question Id : 47163920447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Find the correct answer related to Bio-Digester Toilets?
Options :

Waterless toilet. human waste gets converted to biogas comprising mainly

. methane and carbon dioxide by the anaerobic process

Question Number : 76 Question Id : 47163920447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
)03 £&P6 oGy £ VoeroBow) VO 0N VATE T (Bodod.?

Options :

D) Gared DEOMEE, T Card HIOD T°LT° AT DTN AED B3 S0 &
, B3yE SHAS AR 50 T PR,

S8

Question Number : 77 Question Id : 47163920448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

What was the rank of Andhra Pradesh in Happiness Index in 20177

Options :
1 « T74th rank



Question Number : 77 Question Id : 47163920448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

2017 €506 AP €308 HBT 0L, Fo Joed?

Options :

74 5 U‘;goe‘o
1. ¢

Question Number : 78 Question Id : 47163920449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which is the only country which has won 60 overs, 50 overs and 20 overs World Cup?

Options :
3 « India

Question Number : 78 Question Id : 47163920449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

60 &0 . 50 &P, 20 &Y DD SN NI 28 ), BIo IO?

Options :
0C.Q3°
& Q

=2
[

Question Number : 79 Question Id : 47163920450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements in respect of *p1’° (n)-

a. Piis the ratio of the circumference of a circle to its diameter.
b. Pi1is a rational number.

Which of the above statement’s 1s/are correct?
Options :

1  Onlya
Question Number : 79 Question Id : 47163920450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

D" (pi) (1) 3 Doe20BOD € 308 DELINAD DBMEIoI0C —
D) D DB 28 B0 CIVE), AEPEFVBD oD oI F ol DD
D) D 9O b&)&)gmwé 700&)5
2 75" D DELD/ DELDD DTD).

Options :

D SrSDD
1. ¢



Question Number : 80 Question Id : 47163920451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The sweetest sugar 1s-

Options :

3 Fructose

Question Number : 80 Question Id : 47163920451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
@930 AT G0l BF6 —

Options :

Question Number : 81 Question Id : 47163920452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Blue color of sea water 1s due to-
Options :

_— Interference of sunlight reflected from the water surface.

Question Number : 81 Question Id : 47163920452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
QAVEY) DD D Gores’ &ocerDS S°Cte0 —

Options :
” DD EDBBO oL QPGS 57083 NDBD0LI0 VEVRITOI0 S°HR0
5. Al

Question Number : 82 Question Id : 47163920453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
For how many months 1s a cheque valid from the date of 1ssue?

Options :

5 o 3 months

Question Number : 82 Question Id : 47163920453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

2P0 B BEYL D) dow P61 eV a)0eNod?

5 3 Deew



Question Number : 83 Question Id : 47163920454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements-
a. It was a race in Pakistan 1in 1960, where Milkha Singh defeated Abdul Khaliq and was
christened the *The Flying Sikh™ by the Pakistani President Ayub Khan.
b. First time when Milkha defeated Abdul Khaliq was i 1958 at Tokyo Asian Games to win
Gold Medal.

Which of the above statement/s 1s/ are correct?

Options :
5  Bothaandb
Question Number : 83 Question Id : 47163920454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

& 308 HOEDOD HOGEID0E
D) 196265° Jr3FS &° 200D TS ey Do e 205 D LE0D) EONN
FEFD OG{LOIE0NI VONTS IO ol ‘G Powohi DL’ D DHED
Toreco. -

) 1958¢5° 036‘%673656 2005 eshoir Scees” Doer); dof DOGOI O e2e065 DS
5,200 L)0TPE) D0 o).

D D& DO TPD0?
Options :
5 2. &) Bo&r

Question Number : 84 Question Id : 47163920455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is a judicial writ issued as a command to an inferior court or ordering a
person to perform a public or statutory duty?

Options :

4 « Mandamus

Question Number : 84 Question Id : 47163920455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

€ 500 TS° 28 DFED 28 PG OISR DO, 28 LIEIGDD0N

EPEIBD DO S0H .ghcm O esB30m QORIE 22{CD0DES Sarol R T

Options :
.
4 @ QTOCOR



Question Number : 85 Question Id : 47163920456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
a. "Satyameva Jayate" was adopted as the national motto of India in 26 January 1950.

b. The words "Satyameva Jayate" are inscribed on one side of all Indian currency notes and
national documents.

Which of the above statement/s 1s/are correct?

Options :
- Bothaand b

=

[

Question Number : 85 Question Id : 47163920456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
& S0H 7D DBLIoOC..

) &6 B3 &AL TG0 ( Dref’ ) T DSgED 2L D 2000 26. 1950¢°
(88O 2BMH0D.

D) VSR 2ADH' 9D DTV ) LPOBAD L0 Tt DG, FPAOL TERDL
DG ANAoI0 20RO,

D T°e° D DELD / DEDD DTDD.

Options :
5 o). &) Do

Question Number : 86 Question Id : 47163920457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The name of the union given in the Constitution is-

Options :
« India or Bharat

S

Question Number : 86 Question Id : 47163920457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
T°a§0(1065° 0RO £ DD DO —

Options :

& 4 QOGO T8 20D



Question Number : 87 Question Id : 47163920458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements-

a. Nagarjuna Sagar Dam built across the Krishna River forming boundary between Telangana
and Kurnool district of Andhra Pradesh state.
b. Srisailam Dam constructed on the Krishna River at the border of Telangana and Guntur
district of Andhra Pradesh.
Which of the above statement/s 1s/are correct?

Options :
4V Neitheranorb

Question Number : 87 Question Id : 47163920458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 88 Question Id : 47163920459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
International Day of Yoga coincides with-

Options :

3 ¢ Summer Solstice

Question Number : 88 Question Id : 47163920459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 89 Question Id : 47163920460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements in respect of *Sriharikota’-
a. Sriharikota is a barrier island off the Bay of Bengal coast located in the Nellore district.
b. Sriharikota is partly located in Sullurpeta mandal and partly located in Tada mandal and
separates Pulicat Lake from the Bay of Bengal.
¢. Sriharikota Island was chosen i 1969 for a satellite launching station, but became
operational in 1971.
Which of the above statement/s is/are incorrect?
Options :
- None of these
Question Number : 89 Question Id : 47163920460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 90 Question Id : 47163920461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Tungabhadra multipurpose project is a joint venture of Karnataka and Andhra Pradesh.

Tungabhadra 1s a tributary river of-

Options :
1 « Krishna



Question Number : 90 Question Id : 47163920461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 91 Question Id : 47163920462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following elements are found i highest and lowest quantities respectively in the

crust of the earth?
Options :

v Oxygen and Potassium
4.

Question Number : 91 Question Id : 47163920462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 92 Question Id : 47163920463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following mountain passes forms the “Tri- Junction™ of India. China and Myanmar?
Options :

> Diphu

Question Number : 92 Question Id : 47163920463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
QOC.OIF. BT°. WONTY6 © BBoLD Aow) DVGOLALY DOE?

Options :

(A¥S) L
4 &



Question Number : 93 Question Id : 47163920464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which will be the first State to launch Country’s premier solar powered Cruise

Boat by December?

Options :

3 Kerala

Question Number : 93 Question Id : 47163920464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 94 Question Id : 47163920465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which state government has decided to launch a project ‘Chullah’ for smokeless kitchens?
Options :

~ Maharashtra
" 4

2

Question Number : 94 Question Id : 47163920465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

Question Number : 95 Question Id : 47163920466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Who has won ‘Save Water Hero Award’?
Options :

5 « Makarand Tilloo

Question Number : 95 Question Id : 47163920466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 96 Question Id : 47163920467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements-
a. An Ultra mega solar park 1s one which at a single location has total installed capacity of
1.000 MW.
b. The Kurnool Ultra mega solar park in Andhra Pradesh is the world’s largest single location
solar park.
Which of the given statement/s is/are correct?

Options :
5 « Onlyb

Question Number : 96 Question Id : 47163920467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 97 Question Id : 47163920468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements:
a. The Jal Shakti Abhiyan is a campaign for water conservation and water security in the
country.
b. The campaign will in two phases. firstly. during the monsoon season. from 1st July. 2019
to 15th September, 2019 and then from 1st October, 2019 to 30th November. 2019 for
states receiving the North East retreating monsoons.

Which of the above statement’s 18/ are incorrect?

Options :

4 « Neitheranorb



Question Number : 97 Question Id : 47163920468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 98 Question Id : 47163920469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

After which year, the sale of only Electric Vehicles will be permitted in India, as per the proposal
given by the National Institution for Transforming India Aayog?

Options :
> « 2030

Question Number : 98 Question Id : 47163920469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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DTS OSB3 300 DEVFEOTNE T TPTOR PG RSB0 BHDHS0H?

Options :
5 « 2030

Question Number : 99 Question Id : 47163920470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

How many states faced Rs. 1 crore fine for missing deadline for plan on plastic disposal?
Options :

1. ¢ 25

Question Number : 99 Question Id : 47163920470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 100 Question Id : 47163920471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The Supreme Court has asked which state government to deposit Rs. 100 crore fine imposed by NGT?

Options :

5 @ Meghalava
d_ - -

Question Number : 100 Question Id : 47163920471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 101 Question Id : 47163920472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which word does NOT belong with the others?

Options :
4 Car

Question Number : 101 Question Id : 47163920472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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